ST THOMAS’ COLLEGE (AUTONOMOUS), THRISSUR

INDEX MARK RULES
: Total
S1 No Subject (A) Index Mark (B) Bonus (C) Common Bonus (D) Index
1. B Sc Physics Part IIT + Physics
2. B Sc Chemistry Part IIT + Chemistry
3. B Sc Botany Part III + Biology
4, B Sc Zoology Part III + Biology Arts State Level A — 10
5. B Sc Mathematics Part III + Mathematics (HSE Only) n
10% of index marks to be added as a : _
. Part I Marks + Marks in grace mark for those students who are Ex Service Man — 15
6. B Sc Statistics . . . . ) +
Mathematics/Statistics coming from science stream with
Mathematics as a subject NSS/NCC/

B Sc Computer Science/B Rajyapraskar/
; Sc Data Science & Part ITI + Computer Science/Maths or Nanmamudra/

Apphed Computer whichever is high SPC (in XII level) — 15 B+C+D

Science/BCA +

Part IIT + 10 for electronics paper in VHSE
8. B Sc Electronics & Al Physics/Maths/Electronics/Computer Science NCC
or whichever is higher AC erti' f i'cate -3
9 B Sc Forensic Science Part I11 + marks obtained for Chemistry or B Certificate — 5 1Max-10
' Biology whichever is higher C Certificate — 10
. . . 20 for English other than Language
*

10. B A English & History Total + 2*English Language 50 for History
11. B A Economics Total 50 for Economics
12. B A Vlsqal . Total

Communication
13. B A Multimedia Total 50 for multimedia paper
14. B Com /B BA Total 25 for each commerce paper & max 50

* In the case of CBSE/ICSE/ISCE (Total is 500 converted to 1200
* In the case of VHSE (Total is 800 converted to 1200

[total mark/500%1200]) (Part III is 400 converted to 800 [part III marks/400%800])
[total mark/800*1200]) (Part III is 600 converted to 800 [part III marks/600*800])




15. B A English Total + 2*English Language 20 for English other than Language
Integrated M.Sc

50% marks of Psychology as optional

16. Psychology Total subject in HSE or equivalent
B A Criminology and 50 marks for those who have studied
17. gy Total Psychology as optional subject in HSE or

Police Science

equivalent

* In the case of CBSE/ICSE/ISCE (Total is 500 converted to 1200  [total mark/500*1200]) (Part III is 400 converted to 800 [part III marks/400*8007)
* In the case of VHSE (Total is 800 converted to 1200 [total mark/800*1200]) (Part III is 600 converted to 800 [part ITII marks/600*800])



